WITTRAE LR R 112 B4

1 SR T

i — = = Y Fal N =
— 8 H 28 H 8H 29 H 8H30H 8 H31H 9H1H 9H2H 9 H3H
2FCRRE 08:00-09:00  |FEH Wi EAERHAS ERFEHGE
SRR - B - | H 07300745 EREEE ARSI
BEFRE - BB EER | BEH FHEEI S
T~ R A nnﬁ?ﬁlﬁﬁﬂ%z?ﬁ%ﬂ H WS REE
LEHNEE fmEds IR AR ER
BB~ BRI
(1)
- 9H4H 9HS5H 9H6H 9H7H 9H8H 9H9H |9H10H
5L T [CReZaNE bS8 ESRRIE S ERIBEHGE FEHEH
01 HHEHEFS  JURREES2 M [ M s
801 AL HHENE) 131 JUFER BRI (3525 T 2)
REREFE R LA
- EEE
= 9H11H 9H12H 9H13H 9H14H 9H15H 9F16H | 9817 H
55\ ~ REERG ~ f |BEEH 921 EZIHEHFEME |PEE-RFEIEE | EREBEHE R EEE
H RS EFEIEJBB KE—XFE  |5]) $§xﬁﬁﬁ 9IFF 21 ﬁ RlFEZE L = e
902 H ¥/B AR5 DEF(2) SRR &9 HE-RUE L
802 AN
g 9 H18 H 9H19H 9H20H 9H?21H 9H22H 9H23H | 9824 H
901 {H ¥ EOZARF LhEH B2 $ H TR EER =N £ ERFEHGE HhEE(10/9
701 AZIEENE] 701 BifEEEEHLY 1= (2) %ZEW‘FE?%BZ SAEN |802 HAEEAEALY -
EGE (AAm2) REFFEEE(D) 2 RIsEE Y =
FEGRE (ET4) o JERREHEY | TR EE
f Effr AR TR T ER
ZEKER
i 9 H25H 9 H26H 9 H27H 9 H28H 9 H29H 9H30H [ 1081H
801 HEFEERHLY LhEH Ji52E rE BB —SEH  [RkED
902 {H ¥/F R AR5 702 BEEEEAEY DEAAE(3) 14:50 8 FEAR LA 1A
702 AZHENE] FEGE (Aam3) B ARBE HPV JZ e it |
FEGRIE (35T 5) BHEL -~ JUE B4
BEw R EMN
VAN 10H2H 10H3H 10H4H 10 HS5H 10H 6 H 10978 | 10088H
901 @%ﬁ ORI LrEH aRE] RlsEE =
801 AN E) FEGRIE (Bimd) REFHEEE(2) ERFEHGE
FEGRIE (51 6)
+ 10 H9 H 10 H 10 H 10 H11 H 10H 12 H 10 H13 H 10514H 108150
SE PRI B H 902 {H ¥hECR AR —REH —RELH e IN
802 S ) SRR .
DL (4) RANGE 54, €2 Eis i e
}Z:E
REAIEE—-F A
J 10 H16 H 10 H17 H 10 H 18 H 10 H19 H 10 H20 H 10821H |10 221
702 BiE EEEAEY ErEH 1= (4) 801 H[EE ALY 802 H[EEEEALY
901 ﬁ%ﬁ ORI 701 BEEEEHLY REFFEEE3) S TEKEEHR10 |FHEEZ=BRE TR
701 A EENED FEGERIE (B 5) FEGHE (ET7) - UERE R EY | ARBEHSE
R EfR
ol 10 H 23 H 10 H 24 H 10 H 25 H 10 H26 H 10 H 27 H 10H28H |10H 29 H
902 {HENE RIS BEEH DEAE(S) FEE = PgMEe (FEMEe
702 A EENED FEGRIE (B 6) FEGRIE (3EET8) ERFEHGE
JEEER RS HEBR R (A28
=fEIER) - CEAIRMR
A PRI L
~[— 10 H 30 H 10 H31 H 11H1H 11 H2H 11 H 3 H 11 H4H 11 A5 H
901 {H ¥/E R AR5 LhEH BEMERN T ERIBEHGE B
801 AT E) EGHE (Aam7) Ak Bt RlEE Y =
1 (5)
RERHEEE(4)
FEGE (61 9)
-+ 11H6H 11H7H 11H8H 11H9H 11 H10H nAUH|u1ALRA
— KRB EEEwE— 902 (B ¥F R AR LhsE H D (6) S TEREEHR11  |FREEZRE
802 AN FEGRIE (851 10) NEREEZEE 13 | EREEHE
FEGRIE (B 8) JUFERAEEH (FE 1-3  |fff; 282 - 4 fff)
fit s B2 2~ 4 1)
~[— 11 H 13 H 11 H 14 H 11 H15 H 11 H 16 H 11 H 17 H 11 H18H |11 H 19 H
. |901 {HEIEERS e H FEGRIE (85T 11) 801 HEFEERHLY 802 HEFEERHLY
701 AZIEENE] 701 BiEEEEHLY 1= (6) CIEG AR |REEZ R
702 BB EEEALY RERHEEE(S) CiRERE - ERFEHGE

REGRE (B 9)




~[— 11HZOE{ 11)%215 11)%225 11HZ3E{ 11HZ4E{ 11 H25H |11 H26 H
= 902 {HEIEEIR sEH FEGRE (%G1 12) - FEREELEY (REEZR
702 ZZ3ENE] HE(7) R EMT ERIHE HE
FEGRE (& 10)
~[— 11%275 11)%285 11)%295 11%305 12)%15 12H2H 12 H3H
PO (901 {HEhHEL AR sEH BEREEHE & d A 902 BIFEE L =
801 AT iHFNE) k& SE 2 901 11E(7) ERHEHE
BREH FEGRIE (8%T13)
SR S RS EE
% /\E ~ WEEE—X
+ 12 H4H 12H5H 12H6H 12H7H 12 H8 H 12890 |12810H
F|FEEEOEE(RE) sEH JEiE(8) & Hh# 802 ResE L SR E TR
902 {H ¥)EZART At FEGRIE (%G1 14) T~ JUFEREERE A [ EREFEHE
802 AL iHFNE] %S A 801 Yy e
FEGRE (B 11)
~[— 12%115 12)%125 12)%135 12%145 12%155 12H16H |12 H17H
75 |901 {H SN AR LREH 11E(8) & sdfh# 702 FIFEE L =
701 ZZ3EFNE] {EFEH A TLRER] REFHEEE(6) TEEME A ARIRE ERIHE HE
TEZEMEBSCR) raksdtm4 701 TEZEH AR ACT 22 fE5Z W) 758 TEFEMmA R
FEGRE (B 12) FEGRIE (8%ET 15)
-+ 12 H18 H 12 H19 H 12 H20 H 12 H21H 12 H22 H 12H23H 128208
1 |902 {HEIEEIR sEH ~ 701 BlEEGE A |702 HEEFEEHL 801 Hi[EFEEEHLY RIFEE L =
702 ZZ3ENE] &y HE(9) ST EREEH-12 | ERBEHE
TESEMEIESL FEGRE (B 13) FEGRIE (B%ET 16) TR E 2 (FE 14 |JUFREEZ (#E 14
802 Hi[E[FEEEHLY 1) i)
= A EER- AL EEE)
~[— 12 H 25 H 12 H26 H 12 H 27 H 12 H 28 H 12 H 29 H 12H30H |12 831H
J\ |901 {HEIEGEIRFS =H 11E(9) RlFEE B E R EH
801 A HFNE] FEGRIE (&M 14) REFEEE) BT
FEGRIE (8%ET17) Ak
R
+ 1H1H 1H2H 1H3H 1H4H 1H5H 1HeH | 1878
F. PrE#EER EH JE#EE(10) B \ET - EEAS R RIFEE L =
902 1K B E RS ERIHE HEE
802 AT iHTNE)
FEGRE (B 15)
- 1H8H 1H9H 1H10H 1H11H 1H12H 19139 | 18148
—+ |901 {HEIE RS 1= (10) BB BB
701 AT AEEAE) TR APk & B e S i e
TN~ SRR A R
NG
ERIHE HEE
VRS A kS
=
- 1H15H 1H16 H 1H17H 1 H18H 1H19H 1H20H 1H21H
-+ [902 {HEIFEARTS THGELRFEFIN TR TUFEAR AR ERIBEHE FEEBG
_ |702 A imEShE) BEE T~ \FHEmEEE -~ \FHfREES BRI e
TR EEVIE PARE RS Gl PRI ~ EfFEE
T\ EEARUKES R RFE
EXE

*W7-10/12(M)-10/13(H) F—RER=E

*W14 -11/28(Z)-11/29(=) F_RE%E

*W20 - 1/11(M)-1/12(H) F=RE=E

wEE

*W2-9/5(2)-9/6(=) hEREBE(F 1-2/t - BAF 13 )

*W11-11/8(=)-11/9(M) hEREZBE(FE 1-3 it - BAF 2 - 4 fil))

*W17 - 12/21([M)-12/22(F) hEREZZ(SE 1-4 )




